
 

 

UNIT (3)  

VOCABULARY 

From a, b, c and d choose the correct answer:  

1- The company increased the hourly ……………… for all employees. 

 a- wage               b- justice               c- crowd                 d- gravity  

2- The hunters set ……………. to catch wild animals in the woods.  

 a- package         b- crowd                c- trap                     d- wage      

3- The company plans to ……………….. more workers next year. 

 a- float               b- employ              c- inhale                 d- drop out  

4- The teacher asked the students to sit in ………………. groups. 

     a- jobless          b- stingy                 c- hearty                d- separate  

5- The lawyer believed that ……………… had not been fully achieved in  

     the case. 

     a- wage            b- crowd                  c- justice                d- gravity  

6- After climbing too high, the cat suddenly …………….. out of the tree. 

      a- dropped       b- inhaled               c- floated               d- employed  

7- Many ………………. people are looking for remote job opportunities. 

      a- stingy           b- hearty                c- jobless              d- casual   



 

 

8- A large …………….. cheered as the team scored the winning goal. 

    a- justice             b- crowd             c- gravity               d- package  

9- It’s important to ………….. through your nose for better oxygen intake. 

    a- float                b- employ            c- drop out           d- inhale  

10- Despite his wealth, he was ……………. with donations to charity. 

    a- separate        b- hearty              c- jobless             d- stingy  

11- The customer was ………….. about the poor service at the restaurant. 

    a- stingy             b- furious             c- hearty              d- jobless   

12- It’s important to …………….. trash in the bins to keep the park clean. 

    a- inhale            b- float                 c- drop out           d- dispose of  

Fill in the spaces with the suitable words from the list:  

( instead of – hearty – float – package – unfairly – gravity ) 

1- She received a ………………. in the mail containing her new shoes. 

2- The chef used honey ………………. sugar in his recipe. 

3- Objects fall to the ground due to the force of ………………… 

4- The team lost the game ……………….. due to a bad referee decision. 

5- A ………………….. breakfast is important for starting the day off right. 

 



 

 

Fill in the spaces with the suitable words from the list:  

( float – casual – crowd – stingy – specialised – inhale ) 

1- The doctor told me to ……………. slowly during the breathing exercise. 

2- The speaker tried to calm the ………………. before starting the  

    presentation.  

3- The balloon started to …………….. away into the sky. 

4- A team of ……………doctors worked together to treat the rare disease. 

5-  They decided to have a ……………….. dinner with friends instead of a  

     formal event.  

GRAMMAR  

From a, b, c and d choose the correct answer:  

1- We …………….. in this city since 2015. 

    a- living                  b- has lived            c- lives                   d- have lived  

2- She ……………… for an hour at the bus stop. 

    a- has waited        b- waits                  c- have waited        d- waiting  

3- They have been friends ……….. over ten years.  

    a- for                     b- just                     c- since                  d- yet  

4- She has worked at the company ………. she graduated from college. 

a- yet                    b- for                      c- just                    d- since   

 



 

 

Do as required between brackets:  

1- She has been a teacher since 2010.                         (Make question)  

……………………………………………………………………………………  

2- We have worked on the project for two months.       (Make question)  

…………………………………………………………………………………… 

3- He (play) the guitar since he was a teenager.                 (Correct) 

…………………………………………………………………………………… 

 From a, b, c and d choose the correct answer:  

1- The soup is ………….. hot to eat right now. 

    a- too                b- but                 c- to                     d- or  

2- The dress is too expensive ……… buy at this time. 

    a- so                 b- to                  c- but                  d- too  

3- The movie was ………. interesting that I watched it twice. 

    a- to                 b- so                  c- too                  d- that  

4- He was so excited ……….. he couldn't sleep the night before the trip. 

    a- that              b- to                  c- so                    d- too   

 Do as required between brackets:  

1- She is too tired to continue working on the project.     (Use so…. that) 

……………………………………………………………………………………..  

2- The rock was so heavy that I couldn’t move it.             (Use too …..to) 

……………………………………………………………………………………. 


